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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0
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P3-1

BjiE) | GEBEETIC (F)) | EM=E (BAH/K) | XK R

07:40 294 150.0 S| FHEA@O7:40 KENFEF (GRAMEEEE)
08:00 294 150.0 5| THA@08:00 REFEF (KEAERR)
09:10 294 150.0 5| FHER09:10 KRENFZRF (KF1RELEE
10:00 294 150.0 & FiHfe10:00 KEFIFEF (KREERES)
10:40 294 150.0 5| THH@10:40 RHEF (REAERSE)
11:20 294 150.0 5| THRe11:20 KREFEF (RE1EREE)
11:55 294 150.0 5| THR@11:55 KREFERF (CRA1ERREED)
12:30 294 150. 0 5| TiHe12:30 RHFEF (KREAERSE)
13:05 294 150.0 5| THRe13:05 KENFERF (RF1EREE)
13:40 294 150.0 5| THR013:40 KREHFEF (RA1ERREE)
14:15 294 150.0 5| TiHe14:15 RHERF (REAERSE)
14:55 294 150.0 5| Tiffe14:55 KEFERF (RF1EREE)
15:35 294 150.0 5| THR015:35 KRENFERF (RA1ERREER)
16:25 294 150.0 5| THR@16:25 KRENFERF (RATRREED)
B3t 4116.0 (14%) 2100. 0 32 #KEC: 2080.0, PH: 6.0

#H[EKECE (2285.0 vs 4570.0) 35
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P3-1
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24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0
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P3-1

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE
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